	Контрольная работа №6   по теме «Логарифмическая функция»     в-1
1. Вычислить 
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1. Решить уравнение
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3.Решить неравенство 

[image: image11.png]loga (x—3) > 2.
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[image: image14.png]log: (10—x) +



 [image: image16.png]logs (x —3) = —1.
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	Контрольная работа №6  по теме «Логарифмическая функция»      в-2 
1. Вычислить
log2 log216
log1248 - log124
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lg8 + lg125;
2. Решить уравнение 

[image: image22.png]logs(2x—1) =





[image: image23.png]logg(x+6) = logg(3x—8)




[image: image24.png]log,(5+6x) = logy(3+4x)+ 1
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3. Решить неравенство 
[image: image27.png]loge(x=5)>1.
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[image: image30.png]log: (x—3) +



 [image: image32.png]log2(9 —x) = -3.
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